= Seke
+ T = =1 = (—302% 1)
o SRR E D
V= 829.75 X 0.10 82.98 | m3 83.0
S LA
V= 82. 98 + 0.00 - 0. 00 / 0. 90 82.98 | m3 83.0




A =
M E W B £ L = (—#4 )
s EE L T
RS B
(72771 1) L= 12. 40 12.40 m 12. 4
(t=15cmPL F) No.0:1.0m, No.14+4.2 : 11. 4m
R AEELY
AsEREEL A= 829.75 829.75  m2 829. 8
TEHRALER T
FRIEH AsEUEL LV
(AsH) V= 829.75 X  0.04 33.19  m3 33.2
ALy AIEE LD
(AsHfL) V= 33. 19 33.19  m3 33.2




(—x4v)
T AT 7V NEEEET
EET HEEEART A E LY
(M-30, t=100) A= 829. 75 829.75 | m2 829. 8
e T HEEEART A E LY
(topl3 t=40) A= 829. 75 829.75  m2 829. 8




HiER AR & oo T
] IE & E w % & T w %W
W s | ow ok | BE §o T ® m M| | P W m oM | B P @ M
(m) (m) (m®) (m) (m) (m®) (m) (m) (m®)
No. 0 No. 0 2.90 2.90
20. 00 2.88 57.60 2. 88 57. 60
No. 1 No.0O + 20.00 2.85 2.85
20. 00 3.23 64. 60 3.23 64. 60
No. 2 No.1 + 20.00 3. 60 3. 60
20. 00 3.40 68. 00 3.40 68. 00
No. 3 No.2 + 20.00 3.20 3.20
20. 00 3. 18 63. 60 3. 18 63. 60
No. 4 No.3 + 20.00 3.15 3.15
20. 00 2. 80 56. 00 2. 80 56. 00
No. 5 No.4 + 20.00 2.45 2.45
20. 00 2. 40 48. 00 2.40 48. 00
No. 6 No.5 + 20.00 2.35 2.35
20. 00 2.18 43. 60 2. 18 43. 60
No. 7 No.6 + 20.00 2.00 2.00
20. 00 1.98 39. 60 1.98 39. 60
No. 8 No.7 + 20.00 1.95 1.95
20. 00 2.08 41. 60 2. 08 41. 60
No. 9 No.8 + 20.00 2.20 2.20
20. 00 2.28 45. 60 2. 28 45. 60
No. 10 No.9 + 20.00 2.35 2.35
20. 00 2.25 45. 00 2.25 45.00
No. 11 No. 10 + 20.00 2.15 2.15
20. 00 2.58 51.60 2. 58 51. 60
No. 12 No. 11 + 20.00 3.00 3.00
20. 00 3.43 68. 60 3.43 68. 60
No. 13 No. 12 + 20.00 3.85 3.85




ez | et . b
mfE e A M T
W i #*F & E = S T & iz
N[N ) A (m) 5 N S| & R RS [T ) N S| [T
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
No. 13 (J&]Ff) [ No. 13 + 0.00 3.85 3. 85
20. 00 4. 98 99. 60 4,98 99. 60
No. 14 No. 13 + 20.00 6. 10 6. 10
4. 20 8.75 36. 75 8.75 36. 75
No. 14+4.2 | No. 14 + 20.00 11. 40 11. 40
ey 284. 20 829. 75 829. 75




X ®Wm #H T (—#24 )
X ER T

MEDRES Ximd v

m FER L= 3.30 X 2.00 6.60  m
W=15cm

6.6
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